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Question: 1

What does the term FMS stand for in mining environments?

A. Fleet Management System
B. Freight Management Sorter
C. Free Mainline Security
D. For Master Support

Answer: A
Explanation:

Question: 2

Which IE switch is recommended for airport jetways?

A. IE3000
B. IE2000
C. IE3400
D. IE3200

Answer: C
Explanation:

https://www.cisco.com/c/en/us/products/switches/catalyst-ie3400-rugged-series/index.html

Question: 3

Which product series has ultra-high performance featuring enhanced security and available Cyber
Vision for Industrial Control Systems visibility is SD-WAN and Edge compute enabled, is a Precision
Timing Source and is Utility certified?

A. IR1101
B. IR1800 Rugged Series Routers
C. Catalyst IR8100 Heavy Duty Series Routers
D. Catalyst IR8300 Rugged Series

Answer: D
Explanation:
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Question: 4

How do converged networks provide the most significant impact in a typical manufacturing factory"?

A. reduced downtime
B. plant safety
C. machine safety
D. better fleet operations

Answer: A
Explanation:

Question: 5

What are the main features required of an Industry 4.0 network-?

A. Safety and Profibus compatibility
B. low latency cybersecurity. convergence
C. standardization safety PLC compatibility
D. safety IEC 61850 compatibility

Answer: D
Explanation:




